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Time : 2.10 Hours) [Maximum Marks : 60
(Very Short Answer Type Questions) 1 each
1. By which action can a sender send hisher messages 7
(A) Listening (B) Speaking
(C) Sleeping (D) None of these

2. Dressing and grooming does not aflect your overall impression on others.

(True/False)
3 Ful form of RAM is ... \
4 Octal number system is aisg callod ..ooooovevernreenen
(A} Baso 2 Systom (B) Base B Systom
(C) Basp 10 System (D) Base 16 System
XIARWZJ[2] - 5751 Tum Over

A-51



10.

XIARWZJDZI

(2)

A Psoudocodo can also ba used to represent an algorithm. (True/False)
A Microsoft windows is a(n) :

(A) Onoraling Systom (B) Graphic Program

(C) worg Processing (D) Database Program

A distributed noetwork confiquration in which all data‘/information pass through

a contral computor is :
(A) Bus notwork (B) Star network

(C) Ring network (D) Point-to-point network

How can wo describo an array in tho bost possiblo way ?

(A) Tho array shows a hierarchical structure

(B) Arrays aro immulablo

(C) Containor thal stores the elements of similar type

(D) Tho array is not a data slructure

What is tho maximum possiblo length o! an identfier 7

(A) 3% characlers (B) 63 characters

(C) 79 characlers (D) Identiiers can be of any length
What will be tho output of the following Python Code ?

Max ("\What are you")
B) v
© vy

(A)  orrof

(€ !
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(Short Answer Type Questions-) 2 each

11.  Wrile importance of communication.
12. Define ICT,

13. List any four inpul devices.

14. Define ROM,

15. Define Program.

16. V/Mat is a Computer Network 7

17, Wrile any hwo loatures of Python.
(Short Answer Type Questions-li) 3 each

18. What is Vorbal Communication ? Givo its advantages.
19. What are Groetings 7 Describo briofly ‘Introduction’,
20. What do you understand by Word Processing ?

21. Describo briofly Central Procossing Unit.

22. What is Bus, Topology ? Gwve its charactoristics,

23. What s primitive Data Structure ?

24. Doscribo briefly primary key.
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ach
(Long Answer Type Questions) 3@

25. Writo down tho proceduro for printing a document.

Or
What are tho main sectors’components of Green Economy ?
26. Dofine and doscribo difforent typas of computoer networks.

Or

What is an Operating System ? Descrbe any fwo types of operaling

systom.

27. Doline and describe DBMS.

Or

\Write down the limitations of a filo systom.
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